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In a mass screening 1,329 men aged 40-59 years were examined
with regard to serum cholesterol and systolic blood pressure, and
then followed over a 6-year period for the development of coronary
heart disease (CHD). At the beginning of the period all were free
from CHD.

Which measure of occurrence can be calculated?

There can be more than one correct answer.
I~ prevalence

I~ incidence rate

~ odds ratio

r Incidence proportion

Ooutof 1
The measure of disease occurrence that can be calculated is the
incidence proportion or the incidence rate
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In a mass screening 1,329 men aged 40-59 years were examined
with regard to serum cholesterol and systolic blood pressure, and
then followed over a 6-year period for the development of coronary
heart disease (CHD). At the beginning of the period all were free
from CHD.

Which measure of effect can be calculated?

There can be more than one correct answer.
I~ prevalence ratio

r~ incidence rate ratio

~ odds ratio

-

Ooutof 1
The measure of disease occurrence that can be calculated is the
incidence proportion ratio
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How can these two RRs be interpreted?

Question not answered
Relative risk (RR) for myocardial infarction in married versus single men
= 1371/1228 = 1.116

Relative risk (RR) for death in married versus single men = 498/683 =
0.729

Married men are 11.6% more likely to suffer an MI but 27.1% less likely
to die from it than are single men in Finland.
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How do you interpret this Attributable Proportion finding? What
does it mean in ordinary English?

Question not answered
It means that if one were to stop smoking it would prevent 72% of the
cancers in this population
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